ISTh IpOoOei, OPSIIOK AEUCTBUI CO CKOOKaMuU

Nwms: Jara: OrneHka:
1 | 3 3 3 11 1
(4= 3P =z x5t x 3 G+ 3G-GP
1 2, 12 1, 1 3, 11 1
— — — (= — ( — = —_ 4+ — —_ (- — —) =
(2 3) 4(5 (2) ) (2 2) 6(5 2
1 1, 1,1 3 1, 1 , 2
—t+ =) - (=+2)= 24+ ) —— 42— =
(3 2) 6(2 2) ( 2) 6 5
2 1 I 2 31 3
2—- P+ -4 = I (=4 (D)D)=
@-3) : G+ 3G
1 I 3 I 2 1 3 1
2— Y+ +Z+4%= S+ I (24 (2=
@-3P+3+5 3+ +3G+GD
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7N
§ O @ ﬁ AT Apo0eii, MOPsIOK IEUCTBUIT CO CKOOKaMU

Nwms: Jara: OreHka:
1 1 3 73 1 3 3 113
4— P - x§¥x="=9_ -+ = - = — =]1—
( 2) 6 4 8 8 (5 5) ( (3 ) )= 200 200
1 2 3 233 1 3 2 1 1 81 1
-+ — = — = —+ )Y —=(=—=)= — =4—
(2 3) ( ~(3 ) )= 720 720 (2 2) 6(5 2) 20 20

1 1, 11 3 13 , , 2 581 41
—+ )Y ——=(=+ )= — 2+ =)y —=+2"—=-=—=90—
(3 2) 6(2 2) 36 ( 2) 5 0 60
1 336 11 1 2 3 115 51
2— P+ - - = (- )=(-13— —+_2+__ =~ =1=
( 5) > (25) ( 325) (3 3) 4( ()) 64 64
1 1 3 81 1 1 2, 193
2— Y+ 4+ 442=""=90- -+ Z
( 2) 2 2 4 4 (5 5) ( ()) 300
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